Name:_______________________________ Date:___________________ Period:______________
Dihybrid Crosses

1. In summer squash, white color and disk shape are dominant while yellow color and spherical shape are recessive.  W=white, w=yellow and D=disk and d=spherical.  In figure 1, the parents genotypes are shown. 



Cross the parents and list the phenotype ratio of the offspring.
P1=  WWDD X wwdd

2. Red (R) is dominant to yellow fruit (r) in tomatoes.  Tallness (T) is dominant to shortness (t). What genotype and phenotype ratios would you predict for offspring of parent plants if one of the parents is red homozygous and tall heterozygous while the other parent is red heterozygous and tall heterozygous.
3. In rabbits B=black hair, b=brown hair and S=short hair and s=long hair.  What are the genotypes and phenotypes of this cross?   BbSs x BBSS

4. In mice the ability to run is dominant trait (R) and the recessive trait (r) causes mice to run in circles only.  Mice with this trait are called waltzing mice.  Hair color is also inherited. Black hair (B) is dominant over brown (b).  Do the following cross.

a. waltzing brown mouse with a waltzing brown mouse

